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COMPUTER NETWORKS
(2003 Course)

Time: 3 Hours Max. Marks: 100

Instructions: 1) Answer any 3 questions from each Section.
2) Answes to the two Sections should be written in separate
books.
3) Neat diagrams must be drawn wherever necessary.
4) Black figures to the right indicate full marks.

SECTION -1

1. a) What is the principal difference between connectionless and connection
oriented protocol ? Also compare TCP/IP and OSI reference model. 8

b) Explain the ATM protocol reference model.
OR

2. a) Explain the difference between message switching, packet switching and circuit
switching with suitable example.

b) Explain the packet layer protocol of X.25.

3. a) In a stop and wait protocol define and discuss the handling of 8
i) Damaged frame ii) Lost frame
b) Which sliding window ARQ is more popular ? Explain why ? 8
OR

4. a) Calculate link utilization efficiency for stop-and-wait protocol, if bit rate =
19.2 kbps, Frame size = 960 bits and propagation time = 0.06 sec. for window
size =3 and 7.

b) Explain the SLIP and PPP protocol used in the internet with examples. 8

5. a) Write down the problem encountered in building the bridges.

i) 802.3, 802.4

ii) 802.4, 802.5

iti) 802.3, 802.5

b) Measurement of slotted ALOHA channel with an infinate number of users,

show that 20% of slots are idle, then
i) What is the channel load ?

ii) What is the throughput ?

iii) Is the channel underload or overload ? Show with the graph. 9

OR
PT.O.
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6.

9.

10.

11

12.

Write a short notes on (any three):

1)
2)

. a

b)

. a)

b)

a)
b)

Blue tooth 3) Virtual Lan
Wireless lan protocol 4) Gigabit Ethernet

SECTION — I
Mention the different routing algorithms. Give difference between static and
dynamic routing algorithm with suitable example.

Whai is count to infinity problem ? Explain it with suitable example.
OR

Show by calculations how many network each IP address class can have with
one example.

How many host per network in each IP address class can exists, show with
example.

Discuss the link state routing algorithm with example.
What is the socket ? Explain with suitable example, the connection between
client and server with the help of socket.

How sliding window concept is used in transport layer like TCP ?
OR

Explain the congestion prevention policy of the data link layer, network layer,
transport layer.

What is 3 way handshake protocol in transport layer ? Explain it with suitable
example.

Explain the role of SMTP and POP protocol in E-mail message transfer.

Compare the FTP and TFTP. List the 5 commands of each.
OR

Write a short note on (any three):

D)
2)

LDAP 3) Wireless Web
E-mail Architecture 4) DNS

18

18
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